
PIPI



BDP

BDT

NLT

NPT

NPP

NLP
PIPI

NLT x1

NPT x1

NPP x1

NLP x1

BDP x1

BDT x1

SCREWS
Mi x58

TRZ x58

K8 x66

W25 x24

W13 x16

TRZ
M5X35

Mi

K8
M8X35

W
25

M4X25

W
13

M4X13



BKDR

BKW

BK

BKP

LDS

LKS

ST

PIPI
BKW x1

BKDR x1

BK x3

BKP x2

LDS x4

LKS x3

ST x12-16



Remember when assembling!

Size 100 has two extra LKS

EXTRA LKS

LKS



BED
Standard configuration

NLT

NPT

NLP

NPP



If you want to assemble the bed in the configuration as below,

(the ladder on the left side), you should replace the elements in the instructions:

NLP ->

NPT ->

NLT ->

NPP ->

NLP

NLT

NPP

NPT

NPT

NLP

NPP

NLT



K8
M8X35

TRZ
M5X35

BDT

TRZ

K8



Mi

NLT

NPTMi



TRZ
M5X35

K8
M8X35

K8

TRZ



Mi

BK

BK

BKP

BKP

BK

Mi



Mi

BKW

BKDR

Mi



Remember when assembling!

Size 100 has two extra LKS

EXTRA LKS

LKS



Mi

LKS

LKS

LKS

Mi



TRZ
M5X35

K8
M8X35

K8

BDP

TRZ



Mi

NPP

NLP
Mi



TRZ
M5X35

K8
M8X35

K8

TRZ





Mi

Mi Mi



W
25

M4X25

LDS

LDS

W25



Important!
Install the plastic caps before assembling the ST

spring slats to the bed frame.

ST



ST



DRAWER



PIPI
BD x2

BKD x2

LDS x2/x4

LKS x2

ST x10-14

W x4

BD

BKD

LDS

LKS

ST

W

Only for bed 140cm
Quantity 2



TRZ
M5X35

K8
M8X35

TRZ

BD

x2

K8



W
13

M4X13

BKD

x2

W13



Mi

LKS

LKS

Mi

Mi

Mi



Mi BD

Mi

Mi



W
25

M4X25

LDS

LDS

W25



Important!
Install the plastic caps before assembling the ST

spring slats to the bed frame.

ST



ST



Use only mattresses

with thickness of 8-12 cm

IMPORTANT

Beds are for sleeping,

not for jumping

Prohibit more than

one person on bed

Bed parts have 2 years

warranty in normal use

Wooden parts should be cleaned with a dry cloth and ordinary

mild detergents for the care and cleaning of wooden parts

MAX

95
KG


	c87e85d834fff0f9d7c742dbc0c997ea1f8fcaee555ffbce968da487e12f070f.pdf
	f4fab7bf7ba43033c06377b7010f7474e77418558e1fe478c3e440890ede0c38.pdf
	79c66df08302e8e5ca73784f5858cdec0f99e3932bd1b5608b996eb17cf18b7c.pdf
	6986b06ae2e2a6c3f44203d75cb884424f94dd6ca9b5f35ec4fdc2822fd6e145.pdf



	aadada7e9cda6a0051efac1d6dd45e5a36216b924e7fc2a1e0589f33bd2acdaa.pdf
	c87e85d834fff0f9d7c742dbc0c997ea1f8fcaee555ffbce968da487e12f070f.pdf
	0f4f585a42786c1270ddbd57f5d052885dcfe9212b805c1daa15d854f999b536.pdf
	f4fab7bf7ba43033c06377b7010f7474e77418558e1fe478c3e440890ede0c38.pdf
	5df7976193381541e8dcf7d0ccab31c6cdb6b5043a4e9ecfa3bb2ea360a761b8.pdf
	79c66df08302e8e5ca73784f5858cdec0f99e3932bd1b5608b996eb17cf18b7c.pdf
	4e64e0ef3e389233043ac5435962ec9b836cd649fb9991b4f63c738e3ad72fdc.pdf
	79c66df08302e8e5ca73784f5858cdec0f99e3932bd1b5608b996eb17cf18b7c.pdf
	19865a1b0b1244cdfd6d43ec56533db7f09bb78d3e77d9a2eb393260f26d94aa.pdf




